TR

S.S. Muffler
_ P/N 309746481
[

<t
Lo
S

O 104

I

—

@ 92R-02 0017

Allen Screw Alu Spacer
M8 x 25 @20 &8,5 .5
P/N 200314 P/N 200415 2x Screws
‘ : use with panniers M8 x 16
use with panniers o P/N 206008
6 Ny
S.S. Bracket
P/N 3015269501
bike's frame

bike's frame

e .54 30 2x Flange Nuts M8
P/ N 200298

@R@

Alu Spacer
@22 28,5 n.11
P/N 205090 )

Alu Spacer| |24 @8
Allen Screw A”e” Screw| |\ 07 @8,5 | |P/N 200321
M8 x 20 M8 x 40 P/N 204321
P/N 200722 P/N 200993
use without panniers @i.48,6V 45
Short Spring Mounting Plate M5 $.S. Clamp @51
P/N 303949001 P/N 204555 P/N 300051530
S.S. Pipe n°1494 bike's stock kat
P/N 3015269201

remove !

Carbon Heat Shield stock bushingt ,
P/N 0815245001

2x Gaskets 2x Gaskets
D14 24,9 h.1,5 @14 35,9 h.1,5
Washer P/N 200371 P/N 206367
@15 D5
P/N 406580

ART. 15269

SUZUKI GXS-S 1000 GX / GT

Allen Screw r
M5x 12
P/N 201031 Allen Screw

Mé x 12
P/N 201265

Washer
D14 D6,4
P/N 205833

SLIP-ON LV-10 STAINLESS STEEL APPROVED



	DT-15269
	Vista del disegno1
	Vista del disegno2
	Vista del disegno3


